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C. a n = 6, U P (X = k) ≤ P (X = 3), k = 0, 1, 2, · · · , 6;

D. a 0 < p <
1

2
, U X Va�Jx0J,)N 1

2
.{z: \X0=3L B a D.�
���:

A. JN X ∼ B(n, p), �= EX = np, DX = np(1− p), }gD+L
1− p =

DX

EX
=

1

3

2

3

=
1

2
,VL[�!T/ p =

1

2
. *Z59�, iDIL

EX =
n

2
=

2

3
⇒ n =

4

3!P n DIr\[x0-g&1?. qme, �.r EX ir DX , 8DIP
n LW, �=�)
Ær9i���0he, +Yr%�0=3.

B. J P (X = 3) > P (X = 4), �/
C3

n
p3(1− p)n−3 > C4

n
p4(1− p)n−4

C3

n
(1− p) > C4

n
p ⇒

1− p

n− 3
>

p

4
.J!�/

P <
4

n + 1
.�z=3 B \X.

C. a n = 6, <2J B �^, a P (X = 3) > P (X = 4), U 0 < p <
4

7
. YBS C 0�|!> p 0a3L\b�6, V^I=3�
8��". �==3

C �\X.

D. h 0 < p <
1

2
, �5t q = 1− p,

PJ = C1

n
pqn−1 + C3

n
p3qn−3 + · · · ,

PC = qn + C2

n
p2qn−2 + C4

n
p4qn−4 + · · · ,U PJ P PC HÆr X Va�Jx0J,aVa�Cx0J,. JN 0 <

p < 1

2
< q, �=

PC − PJ = (q − p)n > 0, ⇒ PC > PJ,uY
PC + PJ = (q + p)n = 1,

4



�= PC > 1

2
> PJ, �q X Va�Jx0J,)N 1

2
. �==3 D \X.	
: RyD=0|L=3!68LU�, .6!�/1F�^Io�, HL��. }Æ��~���

2. 9*�,KHaFES	b, 90i
��vIh9(�b, ��vKHaFES	b0J,HÆ� 0.4 a 0.6. �SKHaFES	bhj/X�0J,HÆr 0.3 a 0.7. �^�j/X�, U��vKH	b0J,r
A.

5

9
, B.

4

9
, C.

2

9
, D.

1

9
.{z: / C.�: = A tIi�vKH	b0q|, <2 A ÆrIi�vFES	b0q|. R= G t�AX0q|. �^

P (A) = 0.4, P (A) = 0.6, P (G|A) = 0.3, P (G|A) = 0.7.NrJ�8{So, ^
P (A|G) =

P (A)P (G|A)

P (A)P (G|A) + P (A)P (G|A)

=
0.4× 0.3

0.4× 0.3 + 0.6× 0.7
=

2

9
.	
: Z.
z-2r9.s�
, ��0�\�6
L9L, �=I/y9RC�.�
rW��9gp�8{So0
:. Z�
:+r"9<j5Wl0?^.
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